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Clummeflued / ECONOMICS

(38D wHmib Eifle euyll / Tamil & English Versions)

Gryb : 3 waenfl ] [ Qurgs wHLQUTSET : 200
Time Allowed : 3 Hours ] J [Maximum Marks : 200
ey ;. (1) Smersg dlamsseEpn sflurs LHaurd o dtaTsT EraTLFEM T

sfluriégé Qarearara)b. sstiudele @Gopulmuear oons
sansranfluurerflLid o L angwirs Gsfelisseayb.

(2) B oag smiy ewuleamer LLHGL erWsUSHGL LweTUHES
Geuamr(Hd. LILEIsET cuangeusn@ Guemdled LU H&SayLb.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.
(2)  Use Black or Blue ink to write and pencil to draw diagrams.

UGS - 3 / PART - A

@M : eteveon allanTésEREE@L elenweflEsab 14x1=14

Note :

) H

Answer all the questions.

sflwrer eflen_aws Caibshss e (PgIs.

Choose and write the correct answer for the following :

1.

Blasr Qur@merrsry peod UDHIW SMHS®S THSH®TSSUN :

(<=1) empGeudvsan (=) BDSAF[H WmiTage
(@) =L1b evills (FF) @ewered Friderev
The concept of Net Economic Welfare has been given by :

(a) Samuelson (b) Alfred Marshall

() Adam Smith (d) Lionel Robbins
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S LiueL U Qurmeiwe Grésmarser urgleurss srTamUL(L Fups #

QUL :

(1) pseraiggieud (<)) &wsibD

(@) seluyl QUTBHETTSTTLD () Cuhaaplu Sjenearssin
The basic economic problems are common to :

(a) Capitalism (b) Socialism

(c) Mixed economy (d) All the above

FCBTEE umasGarigear iamGuep®u SPlpstuBSSuali:

(1) 097D LOTTageD

(<) @awere yrleTen

(@) JR ablsev wHmd RG.D. Spever

(FF) gL 1b el

The indifference curve approach was introduced by :
(a) Alfred Marshal

(b) Lionel Robbins

() J.R. Hicks and RG.D. Allen
(d) Adam Smith

Caemauianr sifsfllien Qe pped SrewTarLd:
(1) Caamau cuamer&Car® @Lb Gluwiiag

() @Cr Casemeu auameas&Gam_ige BaTHE Clseisen
(@) Csmas auemens&Caigen 2 &5 aTar]

() Gaeeu auenersGamigen SpLear]

Increase in demand is shown by :

(a) movement along the same demand curve

(b) shifts of the demand curve

(c) the highest point on the demand curve

(d) lowest point on the demand curve
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emeude gpu@b wronsdne gnu GCsoeauuld wLIHDPSHS
Carhmel&Ewn 2eare] :

() aumorenr Cgeneu Clp&lp&s

() GOEE GComa pslpss
(@) eeovews Comes Apdpss

(FF) Cupaalu Denearsgibd

The degree of response of demand to change in price is : )

(@)

(b)

()
(d)

Income elasticity of demand
Cross-elasticity of demand
Price elasticity of demand
All the above

gwblener Ljerafluded :

(1) @Cr eflena Hloveyd /eflened Hleneuwirang)

(<) Coamaeuwyb jafllid &b

(@) <wuyerefia CsameausCarh efllysGarieL. Geul Hib

(rr) Cupampdlu eansgIn

At the point of eqilibrium :

(@)

Only one price prevails

(b) Quantity demanded = quantity supplied

() The demand curve intersects the supply curve

(d) All the above

2 anplienL @mbg AN&s Wigwrg.

(1) ps® (<) 2-epliumerflid
(@) @aruid (m) 2husd ey
Labour cannot be separated from :

(a) Capital (b) Labourer

(c) Profit (d) Organization

[ $miys / Turn over



3356

10.

11.

Fep&EF ClFwey Temienel :

(=1) Apeuanmaser erpmé Gamereuglerana
(=) s@psMUD THGWL CFaa]

(@) 2L psdbE SniE amarelliLg)
() .CoHasTaild HMTSSID

Social costs are those costs :

(a) not borne by the firms

(b) incurred by the society

(c) health hazards
(d) all of these

Bevpais Curiiguie ComeausGar(h Geuaurm @HESEGLD

(=1) Gueo Crrédl #fpg Qeaeid (=) Sl L ors QUHEGD
(@) &b Coréd sfpg Qedaud () QemiEGsSsTs QMEED
Under perfect competition, the demand curve is :

(a) upward sloping (b) horizontal
(c) downward sloping (d) vertical

@erub @snsrear Geugd

(1) plaid () pogand
(8) 2epuy (7) ey
=Profits are the reward for :

Ya) land (b) Capital

(c) labour (d) Organization

Cuflwe Qurmefwe Apsmenie ¢ LTl fow gouBsduer :

(=) Cell AsrrGLm ' (=) JM. Serer
(@) <L evdls ' (rF) wrLs6
The macroeconomic thinking was revolutionized by :

(a) David Ricardo (b) J.M. Keynes
(¢) Adam Smith (d) Malthus
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g, , S
", @mé Hleve msTey BTLLLD :
(1) AS/AY (=) c/y (@) AP/AQ () AC/AY
The marginal propensity to consume :
(a) AS/AY (b) «c/y (c) AP/AQ (d) AC/AY
13. elewevsar 2 wimn Curg 2 dter @Gpblepeu|b, LMD Comas Ce&sPLD
Slnp&sll Cumeug)
(<=1) Qsey-2 hg LamTaissD (<=3) Caeneu FTLIL| LiGwTai&asLD
(@) Peovagseamn uameissnd  (FF) el 2 bg LmTeissD
A situation marked by rising prices and stagnation in demand is known as :
(a) Cost-push inflation (b) demand-pull inflation
(c) Stagflation (d) wage-push inflation
14. sl Lréd Guurs Qsameand Clarar g) :
(1) emwowl, Wrble WHDID 2 6TemTTL &l DELOLILSET
(<=4,) enowl OMID OTHlE AFEHEET
(@) wrfle wHmibd 2 emenT & BjeLoLIL|EET
() Cuosmmlu Seearsgn
The federal form of government consists of :
(a) Central, State and local government
(b) Central and State government
(c) State and local government
(d) above all
Camgl L @)L migemer HlFuys 12x1=12
Fill in the blanks :
15. “mlewrenfluicd” eremig) DG LD.
The term “micro” means
16. uenwls QurmerTarrsder Siqliuem i urmatwd Grésmearsmar

LHMILD Er5g aneusSlmg.

In a traditional economy, basic problems are solved by and
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17.

18.

20.

21.

22,

23.

24,

25.

26.

LOT Q660 LILIGTLITL (5 <2G0I(E(LPenm 6TEHmLIS) L@GUUmielmE
Marshallian Utility approach is analysis.

allene LIPDSSTD FTHUBD efli wrHD eigLb ereriLi(
The rate of change of supply to change in price is

sjefllemus Srorallé@nd wadlw srreluns.b.

is the major determinant of supply.

— Taug @0 Bpaasdar o aref®, Oeueflul@ e enac
Qe Cw e erer Quidouimen Qs TUTEb.
The functional relationship between inputs and outputs is known as

Qndbleoe Cewey cumersCarL rearg, aulgeUSSle) @) (H&@LL

The marginal cost curve is shaped.

faGari wponflew eimisrguie o drar Hpeambsdr B8 (@& GeTC
&S Wi e GaweuL Coueiq wems 2 i méeb.

Firms realize the importance of under oligopoly.

Qudfloe 2 pusddper Cari_urE Curiliy shengul
T (H&GCaremar g lLmLILTGES QararTLg).

Marginal productivity theory is based on the assumption of __
competition.

eranugl euporear wrpnsdarmred CafllNd ghHu@b wrg
llssmss &MEEL0D.

is the ratio of change in saving to a change in income.

UL BsmeTs CsTHSS UL RGmET oG eg - 6T
SDWP&ESLILHE DS
The direct exchange of goods for goods is known as

auffl eramug eueriells auflewwbd, eNdgrésry auflenwiuy
2 GTaTL SEIWG! <, @GLD.

Tax is a blend of progressive tax and proportional tax.




\ VI . . .
L. &peummeuaiaupeannll QUTHSSs :
27. Qeeuld
28. eumulysF Cswa]

29. sCHTEE auamarsCa(H

30. @ uaraflsEnsdlan G
2 arer 19fay
31. ulnssCHemeu

32. 2L @ 2@l ey
sifley 2 ey
33. aymefl Qeevay

34. Ggen <y UdfssT

35. er&g 2 M gaallés Camium®
36. @@L (h Cwrss Csmeu

37. uewgdlen LS

38. HlAHsCarearens

Match the following :

27. Wealth -,

28. Opportunity cost

29. Indifference curve

30. Segment between two points
31. Excess demand

32. Exertion of body and mind
33. Average cost

34. South Africa

35. Residual claimant theory
36. Aggregate demand

37. Value of money

38. Fiscal policy

-
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12x1=12
(=) @ Sl Csway
(<) euewerey
(&) semEBpUgYD
2 56956lgTensw|b

(FF) emGuryLd

(20) @muy

(esr) LaTSSlET UG F&d)

(e7) 2055 Swbs WwrmLIL L
verss GCoTHelsHSs0

(er) eumssT

(89) CHHGH(X-M)

() ETHTFEWT FHILD

(@) D>S

(eperT) LOTTEHE

(a) Cost per unit

(b) Arc

(c) Rebate and subsidies

(d) diamond

(e) stock

(f)  purchasing power of money
(g) nmext alternative forgone

(h) Walker

(i) CHI+G+(X-M) 13
(j) ordinal ranking _
(k) D>S

(1)  Marshall
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IV. Gemeumd eflammésEend@ afl(p derpsafler eflen smas : - 12

Answer each of the following questions in a word or two :

39.

40.

41.

42,

43.

44,

45.

46.

47 =

48.

49.

50.

Curmerrgrrsdlen Ceum ClLwiT ereme ?

What is the other name for Economics ?

Slera|sadlsEnrar 2 pusHuder elleneare] eremem ?

What is the result of over-production ?

LweTUTLenL euenFwm).

Define-Utility ?

2 eplidlen Caseneu CpdlpeaunnsTs Qms@wn Curg, ¢m Gasmhnhsmisn
carflgensd 2 WSS (plgujom ?

When the demand for labour is inelastic, can a trade union raise wages ?

SmETes srosdle eflliy Blaowrarsr ?
Is supply fixed in the market period ?

SisESGsamsar ereucurm Caremmdlmg ?
How do internal economics arise ?
gwpdle|l Letefl eremg) eremer ?

What is break-even point ?

wpomiflenwy CGuriiguier wpaslwwrer Splibweaysear erencu ?

What is the essential feature of monopolistic competition ?

fasrrCLrelen smpmliLig erévem BleomasEnbd cuerd Gumdlemeneur ?

According to Ricardo, do all lands get rent ?

QumsSluder eumiurienl. eT(pgIs.
Give the formula for multiplies.

‘gl @GenmliL LeTaUT L SHDE @@ STe ,@EW0m ?

Is wage cut a remedy for depression .

8 Blenew iMlGensuilen cuansser wrene ?
What are the kinds of budget ?
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U@&S! - 31 / PART - B ' 10x3=30
V. @iy : @) ereaCueb uss amssEsss ol walésayb.
(i) @abeurm e wd prene oy ohg euflsefla
T ewpdl Ceuamm@ib.
Note : ()  Answer any ten of the following questions.
(i)  Answer for each question should be about four or five lines.
51. vweflen wHiy wHmb uflorhpsdler wHiy @eunbler Caumgur®sener
alemd@s.
E)&p]ain the difference between value in use and value-in exchange .
52. Glurgieurar Quirmermgmy weonsaiear QUWTSmeTE S )G,
Name the important general economic system .
53. Gumgiejemawufear oig it & ApliLibeiismand ).
List the basic features of socialism .
54. UenTLmISaTET eUmESSET WTEe ?
What are the classifications of goods ?
55. Gsmeumws Sioralssn sryeafsmer umsULINS8s.
Enumerate the determinants of demand.
56. Gsmeuuded wrHLD, CemausCar® QL ib Quuiisa CaupmienoliL®és)s.
Distinguish between change in demand and shift in demand.
57. pedrL smebd, Gmidw sretd Camu®sgls.
Difference the short period from the long period.
58.  LWETLITL 46 UENSHMETE Fa).
Name the types of utility.
59. 2.musH s eremYTE eTeNeT ? BjUDBET CUMBSHET WiTeney ?

What is production function? What are its classification ?
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VI

60.

61.

62,

63.

64.

65.

GOy : ()  ecramauCueyd oy amésErdE e weldselb .

10

aumiULE Clseey cuenywi) :
Define opportunity cost.

MC wpmib AC-&@L QL CuueTeT 2 Ne|smeTd: &nms.
Mention the relationship between MC and AC.

Qmdbler 2 HusH Hper Cariur e crHCsTeTHET WTana ?

What are the assumptions of marginal productivity theory of distribution ?

‘Qumsd -@hly eumys.

Write a note on multiplier .

Cass Hlevar LIaRTEIESD eTeTDTE 6TemTeam ?
What is stagflation ?

‘Curgiblg) - eflers@s.

Define public finance.

UGS - @ / PART-C

(i) gaGeurm eflenLwyd @ LES jerelled SewHL Couam(L

Note : (i)  Answer any six of the following questions.

67.

68.

69.

(if) Answer for each question should be about a page.

soULL QummenTsrrsdlen Heeno Seoser wWrame.

What are the merits and demerits of a mixed economy ?

Sleflliys Car@ QLwuwisme aumruL gL elersss.
Explain the shift in supply with diagram.

epagagslen LaLsmer auflensiL®ss eferées.

Describe the characteristics of capital.

AR pnb MR Gar(hseaflen @eLCuuwrear 2 peysmand sams.
Explain the relationship between AR and MR curve.




VII.

LeTLsener aflaTdEs.

11 3356
W, endluste srrefl aumeraysCar oL ofafssan. -
Explain the short run average cost curve.
71, wpomfewwrert Curiquied eSawr Oeewaysemars Lml elflerds g s.
Describe the-wastes of monopolistic competition.
72. msTeIE ETieL uepTULSFIL 6 eflard@s.
Describe the consumption function with a diagram.
73. Senflem cuplomen Blirerrwin undlw erefuws Car_uriyer er(Carersamar
eSlemg@s ?
What are the assumptions of Keynes’ Simple Income Determination ?
74. aflelgllys Qararensaw efeuf.
Explain the canons of taxation.
75. e Bl dsms TaLms 6flersEs. goplane WwHHILD
gwpleowupn @ Hdflae oihémsaw elleufl&aayLb.
Define Budget. Explain the balanced and unbalanced budget.
U@S - = / PART - D 3x20=60
GOy ()  ereeuCGugyid pyebrmy cllenTés@nsE eflanL wefldase,Lb.
(i) geubleumm ellen L uyib eLp 6T ) U&& 2 emell 6
S hHH L Ceuamr(Hib.
Note : (i)  Answer any three of the following questions.
(i)  Answer for each question should be about three pages.
76.  GQummetrsrrsden Hemanio LPMILD ereveneaEener efleurdlasayLb.
Discuss the nature and scope of economics.
77. s0CEr&EE awmarCGarigen Aerellamar amrhg SIS ML

What is in difference curve map ? Explain the properties of indifference curve

with diagrams.
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78. deasCsman Qpslpefuden (pampamen cHleurlons eT(pSIs. - &

Explain the methods of measurement of price elasticity-of demand in detail.

79. ppmfleno Gumiiguie eflene, L uger Siorafldsiu@eig ereuern
ETATLIEnS ellens@Hs. '

Explain the price and output determination under monopolistic competition.

80. QuéHme 2 pusHs Hper Lflreus Carlurigener eflaufléaald.
Discuss marginal productivity theory of distribution.

81, LaeiSsSS 6 STTERISET, sfenereysa, seupans sLHUUBSSID
(PP DEEET efleufl&saLD.

Discuss the causes, effects and remedies for inflation.
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